Class Discussion Questions II Fall 03

1.  Xerox had a legal monopoly in copiers in the United States throughout the 1950s due to its ownership over a patent for the "Haloid" copying process.  The patent expired however in the early 1960s.


Xerox maintained its monopoly however until the 1970s.  Disgruntled competitors sued Xerox for illegal monopolization.  They claimed (among other things) that Xerox had erected barriers to their entry by a strategy of model proliferation.  In particular, the competitors argued that Xerox would announce its intent to market a new copier model with product features just like the entrant was developing shortly (six months) before the (potential) entrant's product was ready.


What type of economic models can be used to analyze the economic plausibility of the entrants' claim?


Does a monopolist have an incentive to "preempt" entry by the proliferation of models or brands?

2.  Kodak was the dominant seller of cameras, film and film processing in the United States until the 1980s.  They have been were sued for illegal monopolization by a number of competitors.

    The allegations included claims concerning Instamatic cameras and the marketing of the film and film processing.  Traditionally, Kodak would sell film only with processing included.  The purchasers would send the exposed film to a Kodak processing facility for developing.  In the early 60s Kodak developed the Instamatic 120 camera.  No compatible film cartridges or processing machines that could develop the film were available.  Hence all film and processing was sold by Kodak.  GAF eventually reversed engineered competing film.  Berkey Photo developed film processing machines.

    About the time these reached the market, Kodak came out with the improved 124 Instamatics.  This made the GAF and Berkey developments obsolete.  Eventually, however they again successfully duplicated, but low and behold, Kodak came out with the 126, once again rendering their efforts obsolete.  Facing bankruptcy, Berkey sued.

    a.  Discuss why Kodak would desire to control the film and the processing (they had patents on the cameras).  Suggest both competitive and non-competitive explanations.

    b.  What facts would you seek to support one versus the other explanation.

